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Numbers to 10,000
1. Draw arrows to match the calculation. One has been done for you.
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2. Use the digit cards to complete the statements below.
.2 6 1 - 10 > 9, 4 8
8,485 + 1,000 > , 6 2 7
3. Chiara has represented the numbers A, B and C below. She says that the numbers
will be equal if she subtracts 10 from A, adds 1,000 to B and adds 100 to C.
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4. Draw arrows to match the calculation. One has been done for you.
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5. Use the digit cards to complete the statements below.
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7.07 5 - 100 > 6, 5 3
8,3 93 + 10 >128.,40
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Is he correct? Explain your answer.

&. 5am has represented the numbers A, B and C below. He says that the numbers will
be equdl if he adds 10 to A, subtracts 100 from B and adds 1,000 o C.

Th H T
®|® o
@ o




Red

7. Draw arrows to match the caleulation. One has been done for you.

A, D.
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C. F. Seven thousands, eight
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8. Use the digit cards to complete the statements below.
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%. Rastislav has represented the numbers A, B and C below. He says that the numbers
will be equal if he sublracts 10 from A, subtracts 100 from B and subtracts 1,000 from C.
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Is he correct? Explain your answer.




Answers

1.B-1000=E;C+100=F
2.9,148; 5,627; 5,392
3. Chiara is comrect. A: 3,356 - 10 = 3,344; B: 2,344 + 1,000 = 3,344; C: 3,245 + 100 = 3,346

4. B-100=FC+1.000=D
5.3,192; 6,853; 8,402
&. Sam is comrect. A: 1,293 + 10 = 1,303; B: 1,403 - 100 = 1,303; C: 303 + 1,000 = 1,303

7.B-1000=D;C+100=E
8.795; 9.300; 6,373
¥. Rastislav is corect. A: 5,304 - 10 = 5,294; B: 5,394 - 100 = 5,294; C: §,294 - 1,000 = 5,274




